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6HJDOD�SXML�DWDV�VHPXD�OLPSDKDQ�UDKPDW�GDQ�NDUXQLD�VHUWD�QLNPDW�\DQJ�WHODK�

GLEHULNDQ�ROHK�$OODK�6:7��']DW�\DQJ�0DKD�6HPSXUQD� ODJL�0DKD�PHQ\DQ\DQJL�

GDODP�VHWLDS�KHPEXVDQ�GDQ�WDULNDQ�QDIDV�KLGXS�LQL��'DQ�WLGDN�DGD�VDWX�SXQ�\DQJ�

WHUMDGL� GLGXQLD� GLOXDU� NHKHQGDN�1\D�� WLGDN� OXSD� SXOD� VKDODZDW� EHULULQJ� VDODP�

PDULODK�NLWD�KDWXUNDQ�NHSDGD�1DEL�%HVDU�0XKDPPDG�6$:��\DQJ�WHODK�PHPEDZD�

VLQDU�GDODP�NHKLGXSDQ�XPDW�PDQXVLD��VHPRJD�GLKDUL DNKLU�NHODN�QDQWL�NLWD�VHPXD�

PHPSHUROHK�V\DIDDW�1\D��

6NULSVL� LQL� GLDMXNDQ� XQWXN�PHPHQXKL� VDODK� VDWX� V\DUDW� NHOXOXVDQ� VDUMDQD�

SURJUDP� VWXGL� 0DQDMHPHQ� %LVQLV� 7HOHNRPXQLNDVL� GDQ� ,QIRUPDWLND�� )DNXOWDV�

(NRQRPL� GDQ� %LVQLV�� 7HONRP� 8QLYHUVLW\� 3HQXOLV� WHODK� EDQ\DN� GLEDQWX� GDQ�

GLELPELQJ� GDUL� EHUEDJDL� SLKDN�� PDND� SDGD� NHVHPSDWDQ� NDOL� LQL� SHQXOLV� LQJLQ�

EHUWHULPD�NDVLK�\DQJ�VHEHVDU�EHVDUQ\D�NHSDGD���

���%DSDN 'U� $ULI�3DUWRQR�3UDVHWLR�0�0���VHODNX�GRVHQ�SHPELPELQJ 0DQDMHPHQ�

%LVQLV� 7HOHNRPXQLNDVL� 	� ,QIRUPDWLND� )DNXOWDV� (NRQRPL� 	� %LVQLV� 7HONRP�

8QLYHUVLW\�%DQGXQJ��

���,EX�3XVSLWD�:XODQVDUL�6�3���0�0���GRVHQ�ZDOL�\DQJ�WHODK�PHPEHULNDQ�PRWLYDVL��

LOPX��ELPELQJDQ��VHUWD�PDVXNDQ�EDJL�SHQXOLV�

��� 6HOXUXK� GRVHQ� GDQ� VWDI� -XUXVDQ� 0DQDMHPHQ� %LVQLV� 7HOHNRPXQLNDVL� GDQ�

,QIRUPDWLND�PDXSXQ�)DNXOWDV�(NRQRPL�GDQ�%LVQLV�8QLYHUVLWDV�7HONRP�\DQJ�WHODK�

PHPEDQWX�GDODP�SHQHOLWLDQ�LQL�

���3LKDN�+RWHO� ,QGRQHVLD�.HPSLQVNL�-DNDUWD�GDQ�VHOXUXK� MDMDUDQ�NDU\DZDQ�GLYLVL�

)RRG� 	� %HYHUDJH� \DQJ� WHODK� EDQ\DN� PHPEDQWX� GDODP� PHQ\DMLNDQ� GDWD� \DQJ�

GLEXWXKNDQ�ROHK�SHQHOLWL�

���%DSDN� 6\DKODQ� 5RVLGL� GDQ� ,EX� ,]]DK�:DIL¶DK� VHODNX� RUDQJ� WXD� SHQXOLV� VHUWD�

NHOXDUJD�EHVDU�SHQXOLV�\DQJ�VHODOX�PHPEHUL�GXNXQJDQ�GDQ�QDVLKDW��NDVLK�VD\DQJ��

GDQ�GR¶D�\DQJ�VHODOX�GLEHULNDQ�NHSDGD�SHQHOLWL�

���7HPDQ�WHPDQ�VHSHUMXDQJDQ� VNULSVL� ODLQQ\D \DLWX ,NEDU��5\DQ� $GULDQ��*KLIDU��

5LNN\��)DMUL��2NL� $QLQGLWKLD��*KLOPDQ��5DQL��5L]N\D��+DZD��1HWWD��6XFL��6LVND��

+LOHU\��GDQ�)DMUL \DQJ�VXGDK�EHUVHGLD�XQWXN�VDOLQJ�EHUEDJL�LQIRUPDVL��VDUDQ��EXNX��

MXUQDO�GDQ�ODLQQ\D�\DQJ�PHPEDQWX�GDODP�SHQHOLWLDQ�LQL�



YLLL

����5HNDQ�UHNDQ�PDKDVLVZD�0%7,�'�WHUXWDPD�\DQJ�WHODK�PHPEHULNDQ�GXNXQJDQ�

GDQ�VHPDQJDW�GDODP�PHQ\HOHVDLNDQ�VNULSVL�LQL�

����.HSDGD WHPDQ�WHPDQ�VHMXUXVDQ�GDQ�RUDQJ�RUDQJ�WHUGHNDW�SHQXOLV�\DQJ�WHODK�PDX�

PHPEHUL�EDQ\DN�PDVXNDQ�GDQ�VDUDQ�VDUDQ�\DQJ�EHUPDQIDDW��GDQ�VHODOX�PHQDVHKDWL�

SHQXOLV��WHULPD�NDVLK�DWDV�VHJDOD�EDQWXDQQ\D��

:DODXSXQ� SHQXOLV� WHODK� EHUXVDKD� VHEDLN� PXQJNLQ� GHQJDQ� VHJDOD�

NHPDPSXDQ�\DQJ�DGD��SHQXOLV�PHQ\DGDUL�EDKZD�VHEDJDL�PDQXVLD�ELDVD�WHQWXQ\D�

WLGDN� OXSXW� GDUL� NHVDODKDQ�� 2OHK� NDUHQDQ\D� SHQXOLV� PHQJKDUDSNDQ� NULWLNDQ� GDQ�

VDUDQ�\DQJ�PHPEDQJXQ�GDUL�VHPXD�SLKDN�XQWXN PHQ\HPSXUQDNDQ�SHQHOLWLDQ LQL��

$NKLU� NDWD�� SHQXOLV� EHUKDUDS� VNULSVL LQL� EHUPDQIDDW� EDJL� SHQXOLV� GDQ�

SHPEDFD��VHUWD�PDQIDDW�GL�PDVD�\DQJ�DNDQ�GDWDQJ��6HPRJD�$OODK�6:7�VHQDQWLDVD�

PHPEDODV�NHEDLNDQ�\DQJ�GLODNXNDQ�ROHK�VHPXD�SLKDN�\DQJ�WHODK�PHPEDQWX�SHQXOLV�

GDODP�PHQ\HOHVDLNDQ�SHQHOLWLDQ LQL��
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